
Exemple : Distance entre y = x2+ x+1 et y = x−1 ?
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g1 = y1− x1+1 = 0

g2 = y2− x2
2− x2−1 = 0

• Les fonctions sont C∞.

• Qualification des contraintes :
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, ρ(G) = 2



L(x1,y1,x2,y2,λ,µ) = (x2− x1)
2+(y2− y1)
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−λ(y1− x1+1)−µ(y2− x2
2− x2−1)







∂L

∂x1
= 2(x1− x2)+λ = 0

∂L

∂y1
= 2(y1− y2)−λ = 0, (x2− x1) = (y1− y2)

∂L

∂x2
= 2(x2− x1)+µ(2x2+1) = 0

∂L

∂y2
= 2(y2− y1)−µ = 0, (x2− x1) = (y1− y2)(2x2+1)
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∂λ
=−y1+ x1−1 = 0
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∂µ
=−y2+ x2

2+ x2+1 = 0

⇒ x2 = 0, y2 = 1, i.e. (x2,y2) = (0,1)
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y1 = 1− x1

y1 = x1−1
⇒ (x1,y1) = (1,0)
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